Section 12.03

Integrals of Exponenﬁais and Logs
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Not every exampie will clearly lead to the natural logarithm. Some examples involve creativity. One of these
creative approaches is to use polynomial long division.
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I Part 3: Review problems

Example 9: f(3x8+—:%~g\/§;—)dx = r@xg 44%)4_'2_, Sx“;/ﬂ S

Example 10: f%‘i}% - % j LXqﬁ 9\'

Tex u= X8
A= Y xS ¥

i
AL
e,
£
s
Q.
£

Blo €

. P —_ 3 --J/
Erampl 11: [ S -;’-'S CX7¥ 3%rs) 53 Oy
Tex an:= X;+3x4!o

- = gu’]["éu
S G SR B '
/2,

SR ST A Y P S B L

3 1/, re

e
,51: (x%.}.?x +i5) e




12,03 Outline.nb

SN + 2y ~9

%523 f\f
- (Y

A 3334-“}x1'+‘!’?x —~24
Y

3¢ -8 x*
( 33 +Gx)

~ 8xT4Lx
- (-2x" ~)
)
xR

= g(“}xt* L% - 8 4

2 R
Examp!etz:f(xes’g—ei%)dx T é&;xq’ix A N s 30‘){
@ i@*\: A = Z')(L @ —.3@
A= Lxdx% -.%Xe“dqu\gSe“_/dv
) Tew ve -2 - Le +ise’ te
S VI B L
L X
A%{n-«%&ix - s..L e. ;g /.
= + L +
Example13:fx2+";’f(m9 dx - 1 2.0% +2) dx
. N
;f-&c A= X +H9x~9 R S Sy
' Z
S = @x +‘+>c§x -
- )
= 2 peslal
= 20%s0) x z 1! &
= A, ~
L xryx-a] 1 ¢
Example 13'{”‘;%2 L}XL}-I' 3:&34‘ ‘}XL-P Hx -2
: % o E dx

X1}

L
X*3 -\d ’

:i’:.
3X

,;.f.ﬂ.xt-—%’x o P Y

Tex u"’-!-xz-ij
da=z1xd
X
Xh 3
da,
<

= lﬁ}‘kbaﬁ C






